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1. B EHEMFHRRE  TIROLAESER ?
A XFRRERRREHFNAE - M1 ASCII L
B. MF— R RERRANN L FEEALER
C. B(F 25 2 25.0 FR IR A — A
D. —fERF— AL 2 bytes
2. PR THUHEBY (2’s complement ) » FHUFKMRATHEIERE ?
A. ATLAIMEE eeR B. AILUE R E EE RN
C. AILEiRCiER D. FILABS LSRR
3. THHEE T AEREHERRE » TR0 7
A. FII5T (synchronizationbit)  B. I (parity bit)

C. BRIt (overflow bit) D. [EIEAIIE (acknowledge bit)
4, TELERRE 0 BE S (repeater) FIERE
A, @igarg B. TEB IR ERIAEER
C. hnssaEnsest Dﬁ&]ﬁﬁ%é%nﬁ -

5. ABRB! (index) WG + FIHIERE ? R
A. BEIREIARGEE T RESHT
B. BB T REGSRHFHILRHENE
C. %3938k (Record) B(EEH LA ERRAILERME /)
D. /A ARSI 2R
KEBED - W REESERRHRI R ?
A. REEIHT B.RA#ERET C. RIS D. Ffi&kse
TEHRPE Windows BUSPRMEMER « SITEH BT ERROBINS ?
A. Windows 7 3iREE % B. MEIRARAREIEA
C. BTHEMESISTEEEN D IR AR HE
8. ﬁﬂﬂ Windows FiR{EAIBIRLE » T HIRGHTH IERE ?
AREBSE— KBRS B. 7EESHEF RIS » —KIRE BT HITRE
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REEFEBFRR D. BURLErPARRRAERRHE— 7 EThRE
9. 'F?Uﬂ%‘%ﬁ%ﬂ:%ﬁ”r (structured design) TR ?
A. TEFE (sequence diagram) B. #5i4H (structured chart)

C. %EIFii2E (data flow diagram) D. FCERRMHE (ER diagram)
10. FHHTER 46702948 (client-server architecture) HFIFEEHY ?

A. BRI RGITIEE B. {@IRR R
C. WEHERAENE D. WA RN E
11. TRt AEEFEANERT %42 Generalization/Specialization ?
A. Abstraction B. Encapsulation C. Inheritance D. Polymorphism
12. BRAE LT E&(C Language)
int a[ S0, AP RGP
int *pl, **p2;

I TSR 7ERE B (semantics) SRR A (syntax) LSRR ?
A pl=a B. p2 = &pl; C. p2 = &a[8]; D. a[3] =*pl;
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13. DUT 18R ERE = (recursive program)IRIGHILAT H SR ?

A. AR MBI E
C. $THIR RSB ER D. $iTRHERIER BT R

14, C++$84t inline function By F 3 EHRYEE 2
A BRIERIEBEDEHROME B. R HEE(compilation)Ff e

C. WAMTHRATRIERER D BATHRRE

B. iFEFrAERIREARGE LUR TR EkE

15. LUBEk(division) B3 ¥ & Bl (hash function) {517 32, 11, 18, 15 7£A 7 & bucket( #— slot-
{IHERS 0 2 6) » FELURIEERM (Linear Probing ) ZREZIHBAIIEN - BITTIRGREIEER ?
A, RS BATEA CNEIEEHRAR B, 8 ABE (Loading Factor) £ 4/7

C. bucket {izfi 4 PIEF 32 D. {25 11 FriEaus EmsiR

16. BRI ARABARIEHRIRGR - fEEER 7
A. B PCBBAS AT THE ROM B. Bt AR R B
C. RIABEMRMEER - ZRMHA B D /ERRMES —EBEA RAM HyE
17. — ARV EBRETERE TR - S ERRA T — ARG ©

B. HRERESS (CPU)
D. #8i&F (network card)

A. ECIERE® (memory)
C. 8% (monitor)

18. TR AR RAR ?

A BRI EEEEE

A.DOS B. Linux C.SQL D. Windows NT
19. HW Java HEWIRGE » fUE IR 7
B. BESBMHM(portability)
C. IBWEYIEH T B G

20. T 5B BRESHE(LIE N3k EH(structured programming)¥)fl « (] $43R

A RAYPTHREBFEHN B. #2stalifiih®iE -

D. {# ] Java Virtual Machine DURF HEITRAE

?

C. BE%{d AL goto statement D. iER(iteration) & T EFEH s —

* TR (40%)
1.

service routines. (10%)

and compare their advantages and disadvantages. (10%)

Please give examples to illustrate the concept of interrupts, interrupt vectors, and interrupt

Please describe the main features of structured methodology and object-oriented methodology

Write a complete program by any programming language with for loops to print the following

diamond shape. For outputting the results, you can only use output statements (such as printf() in
C language) that output a single asterisk(*), a single space, or a new line. Please minimize the

number of output statements. (10%)
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4. FHLMETEAEE S RET T AB (R, BRI

stepl * BEAEDIRLEGE 4 VUM TERE > KW R alEK -
step2 : ERBE R IHMILLIOAIR -

ARAE RGP H)

step3 ! FFE—{EHVERBFEHIEMREE—E A, EBFERELEHRANDES
BlEEARE R EMFIERE - BL53E — EM T EREREER - HUGEFE 2428 -
stepd | EELLERIESER - BRI 2 BIAHEXBOEE 15 KB -

FHFRERETRE - WETHRERGSHEZRE - (10%)
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